

Acuantia, Inc Tank Depot - Plastic-Mart

1121 Riverside Drive 76111 Fort Worth 817-953-8468 **\$** sflory@tank-depot.com **■**

FORMAL QUOTE Tank Depot

Quote # 597230

Last updated on: Oct 30th, 2024 9:59:49am CDT

Sales Rep: Shanna Flory

BILLING INFO

Indian River County BOCC 1801 27th St Bldg A Vero Beach, Florida, 32960-3388 United States

T: 7722263423

SHIPPING INFO

Kurt Steffen IRCDUS / South Regional WWTF 2500 6TH AVE SW VERO BEACH, Florida, 32962-8138 United States

T: <u>7722261914</u>

SHIPPING METHOD

Standard Shipping

QTY	SKU	DESCRIPTION	UNIT PRICE	ROW TOTAL
2	SII-5660000N43	5500 Gallon Plastic Vertical Double Wall Liquid Chemical Storage Tank in White SNYDER INDUSTRIES LINCOLN Plant 1	\$22,075.00 \$27,158.00	\$44,150.00
2	SII-1070000N-2E	TRANSITION ASSEMBLY FOR 2IN FITTING EPDM SNYDER INDUSTRIES LINCOLN Plant 1	\$425.00 \$475.00	\$850.00
2	SII-34700271	2 Inch Double Flange Fitting with EPDM Gasket and SS Bolts SNYDER INDUSTRIES LINCOLN Plant 1	\$200.00 \$288.00	\$400.00

Subtotal	\$45,400.00
Shipping & Handling	\$6,225.00
Grand Total	\$51,625.00



Acuantia, Inc

Tank Depot - Plastic-Mart

1121 Riverside Drive 76111 Fort Worth 817-953-8468 **\$** sflory@tank-depot.com **■**

FORMAL QUOTE Tank Depot

Quote # 597284

Last updated on: Oct 30th, 2024 10:06:16am CDT

Sales Rep: Shanna Flory

BILLING INFO

Indian River County BOCC 1801 27th St Bldg A Vero Beach, Florida, 32960-3388 United States

T: 7722263423

SHIPPING INFO

T: <u>7722263221</u>

Kevin Gibson IRCDUS / Central (Gifford) WWTF 3550 49TH ST VERO BEACH, Florida, 32967-6303 United States

SHIPPING METHOD

Standard Shipping

QTY	SKU	DESCRIPTION	UNIT PRICE	ROW TOTAL
3	SII-5660000N43	5500 Gallon Plastic Vertical Double Wall Liquid Chemical Storage Tank in White SNYDER INDUSTRIES LINCOLN Plant 1	\$22,075.00 \$27,158.00	\$66,225.00
3	SII-1070000N-2E	TRANSITION ASSEMBLY FOR 2IN FITTING EPDM SNYDER INDUSTRIES LINCOLN Plant 1	\$425.00 \$475.00	\$1,275.00
3	SII-34700271	2 Inch Double Flange Fitting with EPDM Gasket and SS Bolts SNYDER INDUSTRIES LINCOLN Plant 1	\$200.00 \$288.00	\$600.00

Subtotal	\$68,100.00
Shipping & Handling	\$6,670.00
Grand Total	\$74,770.00

Ryan Herco Flow Solutions

QUOTATION

Billing Inquiries: (407) 857-7041

Page: 1 of 2 Quote Number: 7290070 Quote Date: 10/30/2024

Entered By: Lisa Blanchette - 027

Description: LGB/5500 GAL CAPTOR/MIKE LOVEDA

Account Number: 040811

Contact Name:

Contact Phone: (407) 567-8000

Sell To:

Indian River County Utility Indian River Co Bd Of Comm 1840 25th St Attn:Finance Dept Vero Beach, FL 32960

Ship To:

Indian River County Utility 8870 Jungle Trail

Wabasso, FL 32970

Unless otherwise noted, prices are valid for 7 days. Ship dates subject to inventory availability at the time purchase order is received. All products are non-cancelable/non-returnable unless otherwise agreed upon in writing. All returns are subject to restock charges, and will require an authorization prior to being sent back in original and unused packaging. Additional surcharge(s) may apply and will be applied at the time of shipment. Please note that due to factors with the potential to create cost changes, prices are subject to change without notice. Items will be invoiced at the prices in effect at the time of shipment.

All sales are subject to the Ryan Herco Flow Solutions Terms and Conditions of Sales and Warranty available at https://www.rhfs.com/terms-conditions.html

Note: The following does not include Shipping & Handling, Tax, or other applicable charges.

Product #	Description/Notes	Uom	Qty	Price	Total
7410.550	5500 GAL CAPTOR CONT SYS HDLPE 120"X173"PRICE INCLUDES WRAPPING	EA	5	24,458.1638	122,290.82
777.174368 7806.220	2E 2" HDLPE UFO TRANS EPDM PVC/EPDM/TI DBL BLTD FLG FTG 2" ABOVE 2 ITEMS FOR DRAIN	EA EA	5 5	388.3123 550.0070	1,941.56 2,750.04
78051.120	PVC/EPDM TANK ADPT 2" T ABOVE FOR FILL	EA	5	77.7849	388.92
7804.014	TANK U-VENT ASSY PVC 3" SNYDER BULKHEAD FITTING, EPDM	EA	5	151.8950	759.48
7804.017	17 X 17 MESH BUG SCREEN ABOVE 2 ITEMS FOR U-VENT INCLD'S TANK FITTING	EA	5	15.9244	79.62
	FREIGHT ESTIMATE = \$16920.00 FREIGHT QUOTE # =0230121				
	COMBO FREIGHT LOADS MAY DELAY SHIPMENT 1-2 WEEKS AFTER TANKS ARE COMPLETE & READY.				
	DEDICATED FREIGHT QUOTES ARE AVAIL. UPON REQUEST.				
	FREIGHT PRICING WILL REMAIN FOR 60 DAYS.				
	FOB: LINCOLN, NE				
	LEAD TIME: 6-8 WEEKS AFTER SIGNED APPROVAL DRAWING.				
	*PRICING SUBJECT TO CHANGE FOR *CHANGES THAT MAY OCCUR DURING *APPROVAL DRAWING PROCESS.				
	THANK YOU FOR THE OPPORTUNITY TO QUOTE ON YOUR REQUIREMENT. PRICING FOR TANKS AND FITTINGS				

Ryan Herco Flow Solutions

QUOTATION

Billing Inquiries: (407) 857-7041

Page: 2 of 2 Quote Number: 7290070 Quote Date: 10/30/2024

Entered By: Lisa Blanchette - 027

Description: LGB/5500 GAL CAPTOR/MIKE LOVEDA

Account Number: 040811

Contact Name:

Contact Phone: (407) 567-8000

Sell To:

Indian River County Utility Indian River Co Bd Of Comm 1840 25th St Attn:Finance Dept Vero Beach, FL 32960

Ship To:

Indian River County Utility 8870 Jungle Trail

Wabasso, FL 32970

Unless otherwise noted, prices are valid for 7 days. Ship dates subject to inventory availability at the time purchase order is received. All products are non-cancelable/non-returnable unless otherwise agreed upon in writing. All returns are subject to restock charges, and will require an authorization prior to being sent back in original and unused packaging. Additional surcharge(s) may apply and will be applied at the time of shipment. Please note that due to factors with the potential to create cost changes, prices are subject to change without notice. Items will be invoiced at the prices in effect at the time of shipment.

All sales are subject to the Ryan Herco Flow Solutions Terms and Conditions of Sales and Warranty available at https://www.rhfs.com/terms-conditions.html

Note: The following does not include Shipping & Handling, Tax, or other applicable charges.

roduct #	Description/Notes	Uom	Qty	Price	Total
	WILL REMAIN FOR 30 DAYS.				
	NON-RETURNABLE				
	*NON-CANCELLABLE AFTER SUBMITTAL DRAWING APPROVED & RELEASED TO MFG PRODUCTION.				
	*RHFS IS ONLY RESPONSIBLE FOR *ITEMS ON THIS QUOTE. ANY ITEM *NOT QUOTED MAY CAUSE PRICING *TO CHANGE. ITEMS QUOTED ARE *BASED ON ORIGINAL DISCUSSION *& REQUIREMENTS FROM CUSTOMER. *ADDITONAL FITTINGS & FITTING *SIZE CHANGES MAY BE REQUIRED.				
	TANK DRAWINGS AVAILABLE UPON REQUEST.				
	TANK SPECIFICATIONS AVAILABLE UPON REQUEST.				
	TANK GUIDELINES FOR USE AND INSTALLATION AVAILABLE UPON REQUEST.				
	STANDARD SNYDER WARRANTY APPLIES. EXTENDED WARRANTIES AVAIL. UPON REQUEST Package Subtotal: 128,210.44				
	Freight Charge				16,920.00

Subtotal: 145,130.44

Harrington Industrial Plastics LLC

Harrington Industrial Plastics 3652 Old Winter Garden Road Orlando FL 32805

Phone: 407-835-1558 Fax: 407-420-4758

Attention: Mike Loveday 772-226-3423

Company: INDIAN RIVER COUNTY

To: jyrodriguez@hipco.com

From: Joe E. Rodriguez

Subject: QUOTE 038D0478

Memo:

10/31/24 06: 32 AM PBT Harrington Ind Plast Harrington Ind Page 2 of 3 #7358060 Harrington Industrial Plastics Quotation# 038D0478 3652 Old Winter Garden Road Written: JYR Orlando FL 32805 Quote Date 10/31/24 407-835-1558 Expire Date 11/14/24 407-420-4758 Fax Page 1 OF 2

Quotation

053632 Ship To: INDIAN RIVER COUNTY IRCDUS CENTRAL WWTF

FINANCE DEPARTMENT

ADMIN BUILDING 3RD FLOOR

1840 25TH STREET VERO BEACH, FL 32960

Job: CENTRAL WWTF RFQ#

3550 49TH ST

KEVIN GIBSON 772-226-3221

VERO BEACH, FL 32967-6303

Contact: Mike Loveday 772-226-3423 Ship Via: BEST WAY POSSIBLE Phone#: 772-567-8000 FOB / Delivery ARO: SHIPPING POINT

Fax: Frt-Terms: CHARGE OUTBOUND ONLY

	=======================================				
Product/Description					
5660000N45 5500 GAL TANK CAPTOR CONT SYS NAT HDPE 120"x172" 1.9SG 18"		26652.52			
35600551 HARRINGTON SOLD AND SERVICED BY LABEL	3	0.00	EA	0.00	
34300012 18" CAP MANWAY T PE VENTED W/15" ACCESS OPENING	3	85.16	EA	255.48	
WRAP-5 WRAP PROTECTIVE PLAST 4000-9500 GAL (120" DIA)	3	220.96	EA	662.88	
34700259 3" FITTING BKHD T PVC EPDM GSKT W/U-VENT	3	183.05	EA	549.15	
34700901 SCREEN BUG FOR U-VENT	3	19.09	EA	57.27	
1070000N-2E ASSEMBLY TRANS FTG OUTLET EPDM FOR 2" BOLTED FTG FOR CAPTOR	3	465.42	EA	1,396.26	
34700221 2" FITTING DBL FLG S PVC EPDM GSKT ENCAP 316SS BOLTS	3	246.58	EA	739.74	
34200015 2" FITTING BKHD SxT PVC EPDM GSKT	3	93.74	EA	281.22	
34701030 LEAK DETECTION SENSOR FOR STD SYSTEM (275-1500 DCT &	3	691.52	EA	2,074.56	

10/31/24 O6:32 AM PDT Harrington Ind Plast Harrington Ind Page 3 of 3 #7358060 Quotation# 038D0478 Harrington Industrial Plastics 3652 Old Winter Garden Road Written: JYR Orlando FL 32805 Quote Date 10/31/24 407-835-1558 Expire Date 11/14/24 Page 2 OF 2 407-420-4758 Fax ______ Product/Description Quantity Price U/M Extension

______ Merchandise Tax Est.Freight / Handling Net Quote Total

6,761.95 19,905.00 85,974.12 112,641.07

Thanks For Thinking Harrington.

Respectfully Joe E. Rodriguez

All Quotations are subject to review upon placement of order. Freight/Handling and applicable taxes if not listed above will be added. Harrington standard terms and conditions apply to this quote.

Harrington Industrial Plastics 3652 Old Winter Garden Road Orlando FL 32805 407-835-1558 407-420-4758 Fax Quotation Ind Page 1 of 2 #7363649 Quotation# 038D0453 Written: JZD Quote Date 10/30/24 Expire Date 11/13/24 Page 1 OF 2

053632 Ship To:

INDIAN RIVER COUNTY IRDUS/S.R.W.W.T.F

FINANCE DEPARTMENT

ADMIN BUILDING 3RD FLOOR 2500 6TH AVE SW

1840 25TH STREET KURT STEFFEN 772-226-1914

VERO BEACH, FL 32960 VERO BEACH, FL 32962-8138

Job: SOUTH WWTF RFO#

Job: SOUTH WWTF RFQ#

Contact: Mike Loveday 772-226-3423 Ship Via: BEST WAY POSSIBLE Phone#: 772-226-1914 FOB / Delivery ARO: SHIPPING POINT

Fax: Frt-Terms: CHARGE OUTBOUND ONLY

Product / Doggription				
Product/Description				
5660000N45 5500 GAL TANK CAPTOR CONT SYS NAT HDPE 120"x172" 1.9SG 18"	2	26652.52	EA	53,305.04
35600551 HARRINGTON SOLD AND SERVICED BY LABEL	2	0.00	EA	0.00
34300012 18" CAP MANWAY T PE VENTED W/15" ACCESS OPENING	2	85.16	EA	170.32
WRAP-5 WRAP PROTECTIVE PLAST 4000-9500 GAL (120" DIA)	2	220.96	EA	441.92
34700259 3" FITTING BKHD T PVC EPDM GSKT W/U-VENT	2	183.05	EA	366.10
34700901 SCREEN BUG FOR U-VENT	2	19.09	EA	38.18
1070000N-2E ASSEMBLY TRANS FTG OUTLET EPDM FOR 2" BOLTED FTG FOR CAPTOR	2	465.42	EA	930.84
34700221 2" FITTING DBL FLG S PVC EPDM GSKT ENCAP 316SS BOLTS	2	246.58	EA	493.16
34200015 2" FITTING BKHD SxT PVC EPDM GSKT	2	93.74	EA	187.48
34701030 LEAK DETECTION SENSOR FOR STD SYSTEM (275-1500 DCT &	2	691.52	EA	1,383.04

Harrington Industrial Plastics
3652 Old Winter Garden Road
Orlando FL 32805
407-835-1558
407-420-4758 Fax
Product/Description
Quantity
Plast Harrington Ind Page 2 of 2 #7363649

Quotation# 038D0453
Written: JZD
Quote Date 10/30/24
Expire Date 11/13/24
Page 2 OF 2

Product/Description
Quantity
Price U/M Extension

Merchandise Tax Est.Freight / Handling Net Quote Total 57,316.08 4,507.97 13,270.00 75,094.05

Thanks For Thinking Harrington.

Respectfully Jonathan DePasquale

All Quotations are subject to review upon placement of order. Freight/Handling and applicable taxes if not listed above will be added. Harrington standard terms and conditions apply to this quote.